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1. (i) (a) Showing your working, estimate, to 1 significant figure, the value of - eiuy
the following calculation.. . R

-~ 30.8+5.09
30_]__5— 0.98 x 3.91

\ S
T |
S T e =

I x4
- Answer: q ...................... (2)
(b) Writing down all of the figures shown on your calculator, find the value of
30.8+500 S R
E 0.98x3.91 . :
3. 8318

Answer: ...

b i

(iiy Find the value of 2 xnx(2.8)°

Give your answer correct to 3 significant figures.
3 @ X IT Pl 2I&]\giﬁswer ..... ﬁWQlO (@) . i
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2. Sally is making porridge. :
The arnounts needed for a normal helpmg for one person are:

half a cup of pofridge oats _
one and a quarter cups of mnlk ww /QD

(;) What would be the amounts needed for normal helpings for nine people?

|

Twm——

/s

%9 % /4)(0/
V v

46 w5

ANSWEF:  encvvemrntonnenr i CUPS OF OALS

’]!25— cups of milkk  (2)

(i) Sally discovers that she has only 3 cups of porridge oats. -

(@) How many cups of milk should she use?.

I

Sally shares the porridge equally between the n[n\e:eople
hp

(b) What fractlon ofa normal helpmg does eac rson receive?

6

-
[ -
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3. {i) Anthony was driving on tho motoMay linking Layburn and Mayf

ord.
The graph below represents his Journey.
A
80
60
distance T
from
Laybum 40
in mites
20
0 ek o
0900 0930 1000 - 1030 1100
time (24 hour clock) :

() Atwhat time did Anthony pass Layburn?’

Answer: ... OC{%—IO

(b) What was his averagé speed before he met a hold-up at 10007 |
1 O Pins P°" 10miS

_ Answer: . éO ........ miles per hour  (2)

)

(ii) Brenda passed Mayford 70 miles away from Layburn, at 1000

She travelled towards Layburn at a steady speed of 60 miles per hour
without any hold -ups.

(a) Draw a line on the grid to represent Brenda’s journey

| (2)
(b) Atwhat time did Brenda pass Layburn? '

Answer
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4. Polygon A Is drawn on a centimolre squaro giid.

() With centro C, enfarga polygon A by scale factor 4 and label tho Imago B. (2)

s A R R e S Do 1 e .R__.__w, « nendessprensmmn SR .
e ik

TG R - s,-.,.?. ETESRUN COU PR e S B it S

1720 BTR T Y

'' T e L e S e Al (et it Kot

U R / NS R \ N - ——

e

e

{ii) How mahy times longer is the périmeter of B than the perimeter of A?

13

ANSWET: veviversnsess L times (1)

(ili) How many times larger is the area of B than the area of A?

(iv) Find the area of polygon B.
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5. (a) Solvo tho oquations : '
3a
i) —=12
(i) 3
5

o - - -
lé : ]é _______ . {2

ANSWEI: @ 5 orervesarssssnsnn

() 2(b~—6) = b= 20
=20 o | o | J

6 ~lA= . 2 AnSwer: b= ....... g ................. — (2

P D

(b) (i) Solve the inequalities

(a) 3x—6<8—;x

Goc -6 <8

W

it o .
¢ < ...!_é-' _ Answer: x<.—..“..“ el
(b)x+4>24 - L , ot

:C-7/-'2

Answer: .>C~;>,..-"7-._.. ............. (1

| (i) Circle on the number fine all the integers which satisfy beth |
g inequalities in part (b)(). | T

o 1 > 3 4 5 & 7 o

| {1y

4 3 "2 ™1
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6. (i) Two sides of a kite ABCD are shown below.

>
(a) Complete the drawing of the kite. - @
(b) Measure angle ABC. ~ Answer: ABC = ,2;3!02?'5" (1)
(c) Draw and measure the diégonals of the kite.

-J Answer: AC 12'] .................. cm BD 8 .................. cm  (2)

(i) ABCDis a scale drawing of a field. The scale is 1 cm to 10 m.
Use your answers to part (i) (c) to calculate the area of the field in square

metres.

o+ l6tles

ANSWET: ..ovvavnans 4’Q .................. m>  (3)
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8. Gemma uses the- conversion Ime ‘below. to convert’ pounds (£) into- dinars

before her hohday
'
100 - /f_f._ EEE -
N I /{-J o
Kyl
iy
A ,/"" #,J:
/.......ﬁ... . ,ﬂ -l
80 . i ’ :
f Lot .
. e PR
‘r/ f"."’" T
: 60 /l o
dinars : T i
- g i /, ” -
/‘/ AT L.
40 4 ¥ :
() r
1 /" P - [ L. L
Ve e .
20 - —ﬂ o O
] LA B
T T nmi
7
A
]
: o T
g 0B 4° 6 g8 v 10 12
pounds (£) ,

(i} {a) Showing clearly where you take ybu_r ‘_reading,fc’onvert £8 intq dinars.

Answer: 72, dihars &)

. ’3' (b) What is the exchange rate?

g 72 0(4"‘5‘/5 ' A'ﬁewer: £1is worth 7 ...... _dinars (1)

Dur‘fgg Gemmaﬂ holiday the exchange rate alters so that she now gets
2 fewer dinars for every pound. - jél o #70

(i) (a) Draw a conversmn lme on the grid using the new. xchange rate (2) T

At the end of her honday she has 75 dinars left

(b) Showing clearly where you take your readmg, use the new nf( ? 4'6{&“%
convert this into pounds. o |

Answer: £ g ...... L (2)
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(i) Xisthe mid-point of the line’AB. 0
(a) Write down the length AX,
S A not to scale

A XT B

ANSWET: 1ivcveiearrannn 3 ................... cm (1)

(b) Use Pythagoras’ theorem to calculate the distance OX. -

L% X A7

‘\/?:7—

 Answer: ... 5w cm (2
(c) C o3 ulate the area of tnangle OAB.

A_ \g : | Answer: /{;é ....... c_nl“lz. (2)

L) | |
/? (i} What percentage of the circle is shaded?
. Give your answer to the nearest whole number.

Area of circle = ]13

not to scale

Answer:

.......................................... L% (3)
S.A. 2835128 |
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11. Brenda has seven alphabet biscuits.

POHEOO®®

(l) List the biscuits which have
(a) no symmetry

ANSWET, veervessainnmmsrorseselnsfralictociosananeess

o

? ~(b) rotational symmetry only

—— o~

Answer: 0 S O S ———

7 ; (c) _bo_th rotaﬁonaf symmetry and line symmetry. -

ATISWELT coveversrssassessennmsanniras T R

Brenda closes her eyes and takes a biscuit at random. -

(i) What is the probability that she takes

(a) avowel

'y

Answer: ....... cuenaracass 7 .........................

(b) the letter K?

ATISWET, ©ocerereessnssessiassasssessnsaassasssbionees

Brenda takes the jetter F and eats it.
7 She now takes another bISCUIt at random.

) What is the probablhty that this |

% (HI
symmetry?

ANSWEL -occeamrmmressess R ST

A 2835128 12
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Pen HeoAGUChen Ras tho

eguation y =3x° -1 .

g
X For his cunve, complote the table of values below.

x|{=s]2l-]ol1]2]3

eyt ey

¥ - - 1705 : 3.5 )

eosvt fomnsare ssarsuvwuuinscsfucesisose

I On the grid below, draw the graph of y = %xz ~1 | - {2)
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=L - s . ) s t
(i A syaichtling has the equation y=1-3X

Eor this siraight line, complele the table of values below.

SE W

X e 0 2

y | 2

- . ‘(1)
1 e
(=} Cntre grid abeve, draw the graph of ¥ = 1=-5x _ (1)

s mas are tna co-crdinates of the point of intersection in the first quadrant?

it 2

ANSWET: (srreressrerreries 5 onsesnesmnnns ) {1)
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13. (a) Wiliie is thinking of & two-digit numkter.
He gives his friends these clues:

» the units digit is larger than the tens digit
« the sum of the digits is 12 |

List alt of the possible numbers which Willie might be thinking of.

i : ase ey (2)
BUVBINVEIT oinonsnsnsipass ob innnbedidis s s 55 SR SRS S Sy Rt en AT risavee .

{b) Sam is thinking of a three-digit number.
She gives her friends these clues:

» the tens digit is one less than the units digit
» the hundreds digit is twice the units digit.

If xis the units digit, T S LR HOPE

(i) write down an expression, in terms of x, for the tens digit

R PP NS T R P e

(i) write down an expression, in terms of x, for the hundreds digit.

T o 1Y SRR S . ()

| Sam says that the sum of the three digits is 15

(i) Form an equation, in terms of x, and solve it to find Sam's number. |

Answer: Sam’'s NUMDAF IS cvrinns (3)

S.A. 2835128 14
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3 (€) Gloria s thmkmg of two numbers p and g, Sho glvos thase cluos:

* the sum of the two numbers Is 22
* pis 8 more than q.

(i) Form a pair of simultaneous eqﬂations In terms of p and q.

R R wisisgsisass (1)

- (ii) Solve the simultaneous equations from part (¢) () to find Gemma’s
numbers, j B | '

Answer: p = covvirennens @00 @ = L. E— {3)

-(d) Fantasia is thinking of a decimal number, f, between 2 and 4 |
She squares the number and then subtracts 3 times her ongmal number

 The result is 70.81 so she can wrlte the equation
f2 — 3f = ~0.81

By trial and improvement, find Fantasia’s number.

f 2 3f - f?— 3f

2 1 4 B -2

AN T3 H=T S ROt {3)
Turn over



14, The machine below inputa two whole numbers, X and y b
: inclusivo. ,

It finds the product xy and the sum X + ¥y

It then outpuls the product dwxded by the sum.
. : X Xy
i, ) x+Yy

For examplo, it x is 2 and y Is 3 the machine dw:des xy ‘6' by x+y =
~ togive the output 1.2 | .

(i) Calculate the output when

(@) xis2andyis6 -

 ANSWEE: e .“_'"',"'I""'_ ......
(b) xis7 a‘nd‘yis 7
Answer ..............................
‘(ii) What is |
(a) the Iargeét_‘po.ssible 'o‘ugpru't_ ,
Answgr: PPN e, SEREAER |
{b) _thle sfnallest possible outpqt?

(iii) List thé pairs‘bf numbers x and y which give a whole number output..

ATISWET, avevrerensssresetesssuesnassassssgasssth srassassiss s st sty pis s o e R T

(Total marks: 100)
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